12, In this question you should show all stages of your working.

Solutions relying entirely on calculator technology are not acceptable.
(i) Selve, for 0 < 6 < 450°, the equation

5¢0s°6 = 6sind

giving your answers to one decimal place.

5)
(i) (@) A student’s attempt to solve the question
“Solve, for -90° < x < 90°, the equation 3tanx- 5sinx= 0"
is set out below.
: - i’xt.anx‘— 5sinx=.()y ‘ 3
32X _5sinx=0
cos x g
3sinx- 5sinxcosx=0
3~5cosx=0 I
COSX= —
| x=53.1°
Identify two errors or omissions made by this student, giving a brief explanation
of each.
@)
The first four positive solutions, in order of size, of the equation
3
cos (Sa + 40°) = 3
area,, a,, a,and a,
(b) Find, to the nearest degree, the value of « : 202)
@)
0) 508”0 = bsan®  Use s’ +ed’O= | o

%,,t wu‘c\. Lo {W&
5 (1 —50i*0) = bsub
Mavvwge SO +bsn® -6 =0 Lun Sad-(?j\o\cf*a
v factase
(o we L pubrgi® =x o Save uhhia. § o Lie

@ = —b o A3bt 10D _ wbd Ll g5t
10 © {o

[Tk ~ Ve Sigw i drodmissbhe o Hu's gpts §0 B as —\1'bb/io
Ond Ho somadlode valie of S is "J



So 6 = g (10°56) =43u41°
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